LO: To use the ratio symbol (bronze)

Ta. True or false? The rafio of cars o
buses is 3:7.
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Za. Malch the cards to the comect

imoge.
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A 1% pens fo
perecils

1k This machine tums senfences info
raficos, Could this ratio be comect?
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B 4:1 pens to
pencils
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Ja. Wrife a statement to describe the
ratic of 4:1 shown beelow.
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2. Bach child's statement is cormect
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Explain how fhis is possible.
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[ The ratioc is 5:3.

Aa. Chircle the odd one out by malching
e rafios fo the descripfion.
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3. Ima 10-piece fruit baskef, there are
only apples and pears. There ore mmose
apples fhan pears.

Write down 3 soluhions for the possible
ratic of pears fo apples.

Draw counfers fo support your answers.
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The rotics shows shioded ports to non-shoded parts.

Match the rotics, stoternents ond bar models.

2:3 [ five to twao |
G:2 i three to two
2:5 [ two 1o thres |
3:2 tewio tio five




LO: To use the ratio symbol (silver)

Sa. True or false? The ratic of bananas to
apples is 4:3.
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&a. Maich the siotements fhat oeean the
sarree Hhimgo

A T2 red . There are bwvice
cuniers fo bl blre cou
counters as resd counters.
B. 322 red 2 For every 2 blus
cuniers o bl cowrnters, there are
counters 3 red couniers.
23 red 3. For everny 2 red
cuniers fo bl cownters, there are
counters 3 blwve counters.
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Al This rachines tumis senfences info
rafics. Could this raotio be comect?
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Fa. Write a statement o describe the
riahio of 428 shown beldow.
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LS. Boch child’™s shalerment is commect.

Explain how fhis s possible.
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Ba. Circle the odd one out by rmalching
e rafios fo the descriphon.
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II[ [rings to neckiaces fo watches|
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Sk Im a chass «of 30 children. =
hovwing sandwiches for lumch. The rest are
howing cook’s cholce or jochket pobalo_

e

Write down 3 soluticons for the possible
rafic of joc ket pobolo o sandwiches fo
conk's choice.

Drorew counters bo support youwr answer.
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The rotio of horses to chickens in o field is 2:5

Here are the horsss. Drow the chickens.
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10.

Shiode squares so that the ratio of shoded to non-shoded squares

is1:4
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LO: To use the ratio symbol (gold)

Fa. True or false? The rafio of rings o
walches to necklacesis 2:1:3.
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10a. Match the stotements thal mean the
sarme thing.

A, 1:3:5 apples. 1. For every apple,

to oronges o there are 2 cranges
pears and 4 pears.
B. 52321 apples 2. For every apple,
o pears to there are 5 pears
OO Ees and 3 oranges.
C. 1: x4 apples 3. For every crange,
o oronges o there are 5 apples
pears and 3 pears.

7Thb. This nvachine tums senfences infa
rafics. Cowuld this ratio be comect?

<5-of a box
of
chocolabes
are white.
For ewvery 3
milk. there
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\are 5 dark.

Conmvince me.

11a. Write a stoterment fo describe the
rafio of 1:3:4 shown below.
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Bb. Each child’s siatement is cormrect

n K[ The notio is 3:5. ]
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Explain how this is possible.

12a. Circle the odd one out by matching
fwe rafios to the descripfion.
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| con fo peas to comols |
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| coin o carmmots |

b Im mfpe-nci:ﬂsenl‘]Ei!‘em% are
handwrifing pens. The rest are either felt
tip pens or pencils. There are more pens
than pencils.

Write down 3 solutions for the possible
rafic of pencils o handwriting pens fo fel
fip pens.

Drow counfers fo support your answesrs._

A bove contains dark, white and milk chooolates.

% of the box are dark chocolates,

JI of the box are milk chooolates,

The rest are white chooolotes.

‘Whaot does each ratio represent?
a) 1:3

b} 4:1

cj 3:5




